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Please make sure that the printed pages in this question paper are 15 in number
and it contains 34 questions.
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gy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYI FIT P TV [VGT @ FXT @ Yew, F97 F HHH ST [ord

Before beginning to answer a question, its Serial Number must be written.
o FUT-YitTHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T e TE Bl g sravaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TR ST AT To JeT-UH YT Haed [@ T To & SARFT FIT-YH Y o FE A T
ford sile defegs 7ot & IRl 9T Rl @I @7 9T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o U F97 % FuT 37 @ {4 & GEAlEd FY @ [ Fe7-0F {7 T 78 8, g # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G [T -—
General Instructions : —

() @ g7 Sar &

All questions are compulsory.

(i) 5 7797 7 Z7 34 Fo7 & A AW GOS0 § GANTH T E

This question paper consists of 34 questions in all which are divided into
four Sections : A, B, Cand D :

G -9 57 G€ H1 G 16 T F7 16 597 &, Jd% 597 1 e & &1
Section - A : There are 16 questions from 1 to 16, each of 1 mark.

G - § 59 % § 17 7 22 7% 7 6 J97 &, J9% J97 2 6% & &I
Section - B : There are 6 questions from 17 to 22, each of 2 marks.
G - 7 : 57 G 723 & 30 7% 7T 8 97 &, FA% 97 4 3 H &l

Section - C : There are 8 questions from 23 to 30, each of 4 marks.
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%€ - 7357 G 431 @34 7% T 4 97 &, A% F7 5 5% H &l

Section — D : There are 4 questions from 31 to 34, each of 5 marks.
(iii) @Y€ - T F § go7 7 SE A%y 79 T4 &1 F7H & T Jo7 F FT &

Section - D contains two questions where internal choice have been

provided. You have to choose one of them.

s — o
SECTION - A
1. fF=fofed & § S9-9 ge iy 78 2 ? 1
(a) V9 B) 8
(C) <81 (D) 1.35

Which of the following is not a rational number ?

(&) 9 B) 8
(C) 81 (D) 1.35
2. I 225 X 135 % H.C.F. 458, @ S L. C. M. & : 1
(A) 675 (B) 1025
(C) 835 (D) 345

If H. C. F. of 225 and 135 is 45, then their L. C. M. is :
(A) 675 (B) 1025

(C) 835 (D) 345
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3. |R 4x% -4x+1 % I ¢ 1
@ -5 B 15
© 55 D) .1

The Zeroes of Polynomial 4x° —4x+1 are:

1 1 1
(A) _57_5 (B) 17Z
1 1 1
(& D) (D) 571
4. =1 & F=-a1 T faaa & 7 1

(A)  (x=1) (x+3) = (x=7) (x+ )

(B) (2x-1) 2x+ 1) = (x-2)?

(C) (x+4)° =3x(x+1)

(D) 4x?+5=02x+7)?

Which of the following is a quadratic equation ?
(A) (x-1) (x+3) = (x=7) (x+5)

(B) (2x-1) 2x+ 1) = (x-2)°

(C) (x+4)3 =3x(x+1)

(D) 4x?+5=02x+7)?
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5. Wa® FHEHTH & FH x - 2y + 3 =0T 3x—- 6y + 9 =0 FH &7 o : 1

(A) T T &q

(B) ®% & T

(C) STURFE oM® &

(D) ™ q ®E T

Solution of a pair of linear equations x— 2y + 3 =0 and 3x- 6y + 9 = 0 will be :
(A) Unique solution

(B) No solution

(C) Infinitely many solutions

(D) None of these

6. A.P.3,7, 11,15, .....% 10df G & : 1
(A) 43 (B) 38
(C) =37 (D) 39

The 10th term of the A. P. 3,7, 11, 15, ..... is :

(A) 43 (B) 38
(C) -37 (D) 39

7. A% fHE A P. @ e X et 98 HEM: 4 X -8 &, @ 39 Bedl W © ¢ 1
A) -6 (B) 14
(€ -8 (D) -2
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If 3rd and 9th term of an A. P. are 4 and -8 respectively, then its 6th term is :

A) -6 (B) 14
(C) -8 (D) -2
8. G & DE |BC?I EC & TR A il 1

A

1.5%1 a9

D E
>N

B C

In figure DE ||BC. Find the length of EC.

A

1.5?/\10m

<D E

N\ /

7\
B

C

9. I} & THEY PIYS & &%l 4 : O % AU H &, A ITbl I GSUSAT b1 ST B 1
(A) 2:3 (B) 16:81

(€) 3:2 (D) 4:9
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If areas of two similar triangles are in the ratio 4 : 9, then ratio of their
corresponding sides are :

A) 2:3 (B) 16:81
(€) 3:2 (D) 4:9

10. galt (4,2) R (-1, -) B T A T4 B : 1
(A) 35 B) +34
(C) /32 (D) 6

The distance between the points (4, 2) and (-1, —1) is :

(A) 35 (B) /34
(©) 32 D) 6

11. 39 fg & Fesis, S fSgert (4, -3) T4 (8, 5) &l SIS+ aK (WETS & HA=<RH &9 4

3:1% U ¥ fawifsa & &, ¢ 1
(A) (=3, 9) (B) (4, -2)
€ 637 (D) (7, 3)

The coordinates of the point which divides the line segment joining the points
(4, =3) and (8, 5) in the ratio 3 : 1 internally are :

@A) 3,95 (B) (4, -2)

€ B,7) (D) (7, 3)
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12. 9sec’?A-9tan’ A & UF & : 1
(A) 1 (B) 8
€ 9 (D) 0

The value of 9sec? A—9tan? A is :

A 1 B) 8
€ 9 (D) 0

13. T T B oo AT W@ & T E 1
A circle can have ............. parallel tangents at the most.

14. 7 6 I BU@TS H §TEA © - 1
" i ®
© S D

Area of sector of the circle of angle 6 is :

2
nr 0 Tr<o
(A) S (B) .
180 360
2
nr 6 Tr<0
(& S (D) °
360 90
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15. R % g P O % 9 6l 99 W PA iR PB W@l &R 80° & HIT W g

g, @ LPOA S & : 1
(A) 50° (B) 60°
(C) 70° (D) 80°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then ZPOA is equal to :

(A) S0° (B) 60°
(C) 70° (D) 80°
16. Ber 2.1 9 A O & N B IO A% © 1
(A) 80.3 1 (B) 55.44 {4
(C) 191.5 {41 (D) 47.09 {4

Surface area of sphere of radius 2.1 cm is :

(A) 80.3 cm? (B) 55.44 cm?
(C) 191.5 cm? (D) 47.09 cm?
g - §
SECTION - B
17. TN % 5-+/3 T FuAT T B 2

Show that 5 —\/5 is an irrational number.
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18.

19.

20.

21.

(10) 103/(Set : A)
WWWWWWW%WHWWWW%@T—I%I 2

Find the quadratic polynomial, the sum and product of whose zeroes are

% and —1 respectively.

k% g 99 & fau fy=foRad e adien & o & 8 ? 2
(k-=1)x+(k+1)y=3k-1
2x+3y=7

For what value of k does the following pair of linear equations have infinite
number of solutions ?

(k-=1)x+(k+1)y=3k-1

2x+3y=7

T g A9 % 3 &0 Bowr g g9 & &= @ 5 8 H gl W B, 39 g9 W wWIRar #
Si= RN E 2

Find the length of the tangent from a point A which is at a distance of 5 cm from

the centre of the circle of radius 3 cm.

k® 68 a9 & e e @ier 2 ke +9=0 & Jd & B ? 2

For what value of k the roots of the quadratic equation x2-kx+9=0 are

equal ?
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22. 52 Tl # W THR B T Th AL H TGSl § § TH G M@l SQr 81 @ T H©
IR a1l Ol T XA bl HiesdT S Hiforg) 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a red face card.

gig -9

SECTION -C

23.stf%\q«—vrés‘raﬁ%,aaw%amﬁlww%aﬁ?asiaaﬁ%,maﬁ
8 Sig i oar B1 a8 R s #ifom 4

A fraction becomes é when 1 is subtracted from the numerator and it becomes

l when 8 is added to its denominator. Find the fraction.

24. = fEaQ @Hi®r & gal & TPl 9 BT R g F ke &, @ & A w2 4
2x% —6x+3=0

Find the nature of roots of the following quadratic equation. If real root exist,

then solve it :
2x% —6x+3=0
25. O 3 Al fea gend 7 & e ® 7 4
How many three digit numbers are divisible by 7 ?
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26. 10 W T TF €G! W AR W e W ¥ W 8 # il $ar W Rum & fagd %
T &l SER & MR § Higl & frew RR @ gl s s 4

A ladder 10 m long reaches a window 8 m above the ground. Find the distance

of the foot of the ladder from the base of the wall.

27. P& 99 § H6G, AR g A2, 3), B2, P 3R C(6, -3) W@ B 4

Find the value of Pif the points A(2, 3), B(2, P) and C(6, —3) are collinear.
28. IR A, BR CRIYS ABC & i &, o feamsy fF : 4

. (B+Cj A
sin =cos

If A, Band C are interior angles of a triangle ABC, then show that :

. (B+Cj A
S1n)| = COS —
2 2

29. 10 &l B A ©F 9 H B ST R W Th GEHT I 31 WG FeUEs B A
ST T 4

A chord of a circle of radius 10 cm subtends a right angle at the centre. Find the

area of the corresponding sector.
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30. % U H UF SR GH A 51 WAHAT 5 HioQ 6 oI g 4
() UTh F9Y HE B,
(i) U v e B
A die is thrown once. Find the probability of getting :
(i) a prime number,

(ii) an odd number.

gug - g
SECTION - D
31. 7 To & Haq & RFER q U dad AR & R & I=ET T 60° T R 0B UG H
JTTIT BT 45° Bl AR B HAS T BT 5

From the top of a 7 m high building, the angle of elevation of the top of a cable
tower is 60° and the angle of depression of its foot is 45°. Determine the height
of the tower.

HAYAT
OR
Rig ifoTe
1+sin6 cosﬁ _2secd
cos 0 1+sin®
Prove that :
1+sin® cosB — Dsecd

cos 9 1+sinb

103/(Set : A) P.T.O.



(14) 103/(Set : A)
32. 6 {Ul Bowr & T g WifEW qu d= § 10 9 X R U g § g9 W weRer 3 &
TEAT HIOTT T I gal A 5

Draw a circle of radius 6 cm. From a point 10 cm away from its centre,

construct the pair of tangents to the circle and measure their lengths.

33. U% R B 3.5 & AW UF o & AHR H e, S S€ B aa TF Fdia W)
AR 31 36 fade @ €@t Sar 15.5 o 31 39 Rade & @ qOE &ewd |
By 5

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of same
radius. The total height of the toy is 15.5 cm. Find the total surface area of the
toy.

3TeE

OR

Bregr 4.2 @ ad o1g & U Mo B AR Bl 6§ al Th 999 & &9 F @ S
Bl I B HAR T BT

A metallic sphere of radius 4.2 cm is melted and recast into the shape of a

cylinder of radius 6 cm. Find the height of the cylinder.
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5

34. Frfaiad GRell 35 TR & QERA &Y (e §) Il &1 A deRal &< s Hiog
R & (% ) 45-55 55-65 65-75 75-85 85-95
TR & HE 3 10 11 8 3

The following table gives the literacy rate (in %) of 35 cities. Find the mean

literacy rate :

Literacy rate (in %)

45-55

55-65

65-75

75-85

85-95

Number of cities

10

11
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